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QUESTION 1

Resource elasticity in Cloud enables which of the following actions? (Choose two.) 

A. Relocate VMs between data centers when a fault is detected. 

B. Deploy VMs across data centers when a new slice is needed. 

C. Add resources to existing VMs when traffic is high. 

D. Add VMs when traffic is high. 

Correct Answer: AD 

 

QUESTION 2

What is the maximum distance of an Edge Cloud from end-user? 

A. 1,000 KM 

B. 5,000 KM 

C. 10,000 KM 

D. 300 KM 

Correct Answer: A 

 

QUESTION 3

What does 5G bring to Industry 4.0? (Choose two.) 

A. 5G will generate a huge amount of data and Information Technology will provide the computing platform with
analytics and AI. 

B. 5G provides the connectivity (bandwidth, latency and reliability) needed to exchange data for OT and IT functionality. 

C. 5G brings nothing to Industry 4.0. 

D. 5G will generate a huge amount of data with mMTC and IT platforms are expected to suffer from this. 

Correct Answer: AB 

Reference: https://www.google.com/url?
sa=tandrct=jandq=andesrc=sandsource=webandcd=andved=2ahUKEwij3MSz5eTvAhUUQEEAHVYtAJkQFjAAegQIAx
ADandurl=https%3A%2F%2Fwww.mdpi.com%2F2673-4001%2F1%2F1%2F5%
2Fpdfandusg=AOvVaw2pcAzrM3BgCPfsBYztcsA 

 

QUESTION 4
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Is it possible for a User Equipment to connect simultaneously to multiple slices in 5G? 

A. No 

B. Yes 

Correct Answer: B 

Reference: https://www.researchgate.net/
publication/340976923_Slice_Selection_In_5G_Networks_Novel_Approach_for_Accessing_Multiple_Slice
s_Simultaneously 

 

QUESTION 5

What is the role of 5G in meeting the automation needs of Industry 4.0? 

A. 5G plays a minor role on Industry 4.0 because the requirements are mainly focused on mMTC and IoT. 

B. 5G requirements for Industry 4.0 are mainly focused on Ultra high bandwidth needs. 

C. 5G plays an important role on Industry 4.0 because it enables the cloud automation with baremetal platforms. 

D. 5G requirements for Industry 4.0 are mainly focused on ultra low latency characteristics but also from high throughput
and massive connectivity. 

Correct Answer: D 
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